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FOREWORD

»

“Give me six hours to chop down a tree and I will spend the first four in sharpening the axe.
— Abraham Lincoln

It is with great pleasure that I am introducing the Practice Sets Series for preparation for the RIMC (Rashtriya
Indian Military College) Entrance Exam. This series is specifically designed to help students to simulate the
actual test-taking experience. It is aimed not just at preparation but also to evaluate their knowledge, identify
areas of weakness and develop test-taking strategies thus, providing them with a comprehensive
understanding of the exam format and content.

The RIMC exam is a highly competitive and challenging test that requires a deep understanding of the topics
and concepts covered.

This Practice Sets Series has been designed to challenge your abilities. I suggest the following protocol for
taking the tests:

e Treat it like the real exam: Approach the Practice Sets as if it were the actual exam. This means taking

it seriously, following all the rules, instructions and attempting to answer all the questions within the
allotted time.

e Create a conduive environment: Try to create a quiet and distraction-free environment when taking the
test. Turn off your phone and any other electronic devices that may distract you during the test.

e Time yourself: This will help you to get used to the pace of the actual exam and ensure that you are
able to complete all the questions within the allotted time.

e Review your results: After completing the test, review your results carefully. Analyze the areas where
you did well and those where you struggled. This will help you to identify your strengths and weaknesses.

Adjust your studying accordingly.
e Practice time-management: During the Practice test, practice time-management techniques such as
prioritizing questions and moving on from difficult questions to avoid getting stuck.

o Learn from your mistakes: Take note of the questions you got wrong and analyze why you got them
wrong. This will help you to avoid making the same mistakes during the actual exam.

e Stay positive: Stay positive and don't get discouraged even if you don't perform as well as you expected
on the Practice test. Remember that the purpose of the Practice Sets is to help you identify areas for
improvement and to prepare you for the actual exam.

We have included detailed explanations of the answers to help you review your answers to the questions.
There are innumerable tips included in the test solutions to help you improve your skills in writing and
preparation strategies for success. Thus, this series is an indispensable tool for anyone preparing for the
RIMC entrance exam.

I commend the academic team of WEDA Books for creating this valuable resource and wish all the students
who use it the very best of luck in their pursuit of success on the RIMC exam.

Col Amardeep Singh, SM (Retd)

Director
WEDA Books
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Practice Set- 1

MATHEMATICS

Time: 90 minutes

Instructions:

S

Maximum marks: 200

Attempt all 30 questions. Write answers separately on the answer sheet provided at the exam centre.
Part 'A' contains 20 questions and each question carries 'Five marks'.

Part 'B' contains 10 questions and each question carries 'Ten marks'.

Use of calculator is prohibited. Marks will be awarded for each step.

Take the value of w as 22/7.

The questions paper can be retained by the candidates post examination.

g

bl

AN

Tt 30 77 T BT | IR 3 T I IR JRAHT T TS I ferl|

T 'A' T 20 T & 3R Ish I Ui 37 T 2

T 'B' H 10 T € 37 Ik U <6 37k H 2

HeTpeIet T SYANT Afeiet & Feaieh =0T o ferq 3feh fe s
TUSHT O 22/7 |

T U T G o aTg 7ot 319 UTe T TR 2

PART A

Find the area of a circle having radius 4 cm and
angle 40°? /4 Tt <A 3 40° FI0T AT I 1 SABA G
e

Arrange the following fractions in ascending

order : / Ffafaa f= & 3O 7 o =aEftyd #:

16 25 7 8 1
25’ 3’15’5’15
Find the greatest positive integer less than 2000
and divisible by both 24 and 32. /2000 ¥ %H 31 24

T 32 ST ForTSa Herdt ST STeHah qUTieh T ShiTSTg)
Simplify / uidd w27 - [ 48 {4+
(15 — 13 =2)}]
Ifa+b+c=9andab + bc + ca = 15 : Find
a?+ b?+ c? /3Ra+b+c=93Mab+bc+ca=15:a® +
b? + 2 3@y

Three consecutive whole numbers are such
(Assuming no remainder is left) that they are

divided by 5, 3 and 4 respectively. If the sum of
the quotients is 40, find the numbers. / dH AR

oot EeaTd Ut ¥ (7 H 5T R R 9 T s R) R o s 5,
3 3R 4 T fonnfora ) afe smTket =1 90 40 ®, @ T I
hifsg
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7.

10.

11.

12.

A train is moving with uniform speed of 120 km
per hour. How far will it travel in 36 minutes? /

Tsh 3 120 Tt ufer o2 st ushemm mife & =rer W 1 T2 36 fime &
[EEEIKUERE U1V
Divide 34 into two parts in such a way that

(4/7)th of one part is equal to (2/35) th of the
other. /34 %I &l 9T § 39 X forerfora =L o6 wah st =67 (4/7)
T A AT 3 (2/5) T % SO 21l

Divide :/ fowfsra &8 6x3 — 13x2 — 13x + 30 by 2x2 —
x—6

A path of uniform width, 3m, runs around the

outside of a square field of side 21m. Find the
area of the path. / U G0 =S, 3 HIT 1 TH 9 21 HieX

ST AT e iR R HGTH o STet hT ST ST 8] T T &t J1d
Fifsrg

A certain sum amounts to 3,825 in 4 years and

to 4,050 in 6 years. Find the rate percent and
the sum. / T fHfera fsr 4 ot § 3,825 3 6 99t 7 4,050 =&

STt 81 ST wferera 37T anT Fra hifsr

15 workers earn 900 in S5 days, how much will
20 workers earn in 8 days? /15 ®d=rl 5 fei # 900

FATd 7, 20 R 8 fodi § feraHr swamdn?
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13.

14.

15.

What will the area of a rhombus whose one side
and one diagonal measurement is 20cm and 24

cm respectively? / T GHTS F1 & FT ST FSEeht
TE T 3R e forepot wma semer: 20 St 31 24 St 22

Omkar purchased a cycle, having marked price
of 4600 at a discount of 5%. If GST is charged at

the rate of 10%, find the amount Omkar paid to
purchase the cycle. / JHHER T 5% T T T 4600 3ifha

e AT U WTgfehe @iet| Afe Saget 10% i 3 & T Srar
g, AT SAHFR o WIFheT TE o foTq FeheT TMRT T A foha,
e 31 ifs

What will be 80% of a number whose 200% is
907? / 36 HEAT T 80% FIT BT FT&HT 200% 90 27

16.

17.

18.

19.

20.

PART B

The cost price of an article is Rs 2400/- and it is
marked at 25% above the cost price. Find the
profit and the loss percent, if the article is sold
at 15% discount. / Tl 3 1 53 Te 2400/- T4 & 3T
T T § 25% A Sifere foram mam 1 afd ag 15% ge W
S=ft STt @, 1 AT SR BT SfrRrd 3 i)

Find the volume and surface area of a cuboid
whose dimensions are 9 cm 3.5 cm and 4 cm. /

TS TATH R ST SR IHRT &he J1d hifere ek st 9
it 3.5 At 37T 4 T B

The outer dimensions of a closed wooden box
are 10 cmx 8 cm X 7cm. Thickness of the wood
is 1cm. The total cost of wood required to make
the box will be how much.

[if 1 cm® of wood costs Rs 2.00/—]

T &G ARE! oh o o STedt ST 10 Tt x § Tt x 7 Tt |
TR I IS | THT ) ST S o FoTq ST Ahg! i F
ANTd feper B2 [afe 1 St erenst sht Shidd 2.00 &99 2]

A train goes from city A to city B at a speed of 60
kmph and returns from city B to city A at a
speed of 90 kmph. The average speed of the train
during the whole journey is? / T ¢ IeX A ¥ I B
T 60 Terft Wit =1 T 7 & ST 2 STR I B | 7ET A T 90
fopeft wifer =i <Y 1far & etedt 81 Ol A o SR o T e T
T R?

The age of a father is twice the square of the age
of his son. Eight years hence, the age of the
father will be 4 years more than three times the
age of the son. Find their present ages. / T fuar

6T 3T 3 T T 3T o 3371 T I ) 3118 7 afre, Forar ot =1y
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10.

Find the value of x if :/ x %1 7F 1@ AT IR ——

21990
1

— 72X
21991 2

At what rate percent per year will a sum of
money double itself in 25/4 years? / foret emafsr

fer o wfcreTer @X 25/4 1 H AT & ST?

Calculate the number of sides of a regular
polygon if its interior angle is 5 times its exterior

angle. / T Fafiq sgyst 1 STl i w0 R Al
THHT ST HI0T 3H ST 10T T 5 T 2

IfaT_1= 1 find : 4a2 + % ./ElﬁaT_lz %,?ﬁ4a2 + aizsh‘r
RIEIK)
Simplify :

(x? = y»]]

JoEfRd H4x? — [3y% — {5x2 — 2y? —

T T A o A AT E 4 T A | AR A g I
EAIELY

How many bullets can be made out of a cube of
lead whose edge measure 22 cm, each bullet
being 2 cm in diameter. / €% % s =4 ¥ fohat Mot
TS ST Eehdl 2, foren forR ot w19 22 It R, Tedes et ot s

2 R

A can do a piece of work in 10 days, B in 12 days
and C in 15 days. All begin together but A leaves
the work after 2 days and B leaves 3 days before
the work is finished. How long did the work last?
/ ATEFM & 10 fEH H, B 12 fei 5 3R € 15 71 & o depar
31 9ft Tk AT Y R § AR A 2 T S e s e Far ® ik
B & @cd € & 3 fi Teet g 3T 21 1 foha qwe ok =l

Construct a quadrilateral ABCD in which angle
A = 1209, angle B = 609, AB = 4cm, BC = 4.5 cm
and CD = 5 cm. / T aqds ABCD 3T TaHT &{ ST #hior
A =120°, 10T B = 60°, AB = 4 &}, BC = 4.5 8t 3{R CD = 5
Tt 2N

How many bricks of size 22 cm x 10 cm x 7 cm
are required to construct a wall 33m long, 3.5m
high and 40cm thick, if cement and sand used
in the construction occupy 1/10th part of the
wall? /33 Hiet oieft, 3.5 Hiet St 31 40 Tt A1t i’ s &
ferw 22 onft x 10 &Y x 7 Tt AR T et ST ST ATavTH
gt gfe fmtor & su fere o e 3t @ 3 dar & 1/10a0
femar s T &2

Find the value of x in each / Y% § x 3T A 14 HIfTT
17-3 _ 4x+2 — 5 _ 6x + 7x+14
25 3 3 5 3
< 42 =2
x-3 x—4 x

a)
b)
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ENGLISH

Time: 120 minutes

Instructions:

1. Read all the questions thoroughly before answering.

2. The question paper comprises of three sections.

Maximum marks: 125

a) Reading Section - 20 Marks
b) Writing Section - 30 Marks
c) Grammar - 75 Marks

3. The question paper can be retained by the candidate post exam.

SECTION 'A' READING

1. Read carefully the passage given below and
answer the questions: (10 marks)

My next pet was a pigeon. He was the most
revolting bird to look at with his feathers pushing
through the scarlet wrinkled skin mixed with the
horrible down that covers baby pigeons. We
named him Ari. For a long time when all his
feathers had not grown, Ari retained a spring of
yellow down on his head which gave him the
appearance of a pompous judge wearing a wig
several sizes too small.

As he had no parents to teach him, Ari became
convinced that he was not a bird at all and
refused to fly. If he wanted to get on a table or a
chair, he stood below it, cooing until someone
picked him up. He would even try to come on
walks with us. This however, we had to stop for
either you carried him on your shoulder or else
you let him walk behind. If you let him walk, then
you had to slow down your own pace to suit his,
for should you get too far ahead you would find
him running after you, cooing frantically, his
chest pouting out with indignation.

Ari refused to inhabit the pigeon loft. He preferred
to sleep on the end of Jane's bed. Eventually, he
was banished from the drawing room sofa, for if
Jane turned over in bed at night, it would hobble
up and perch on her face, cooing lovingly. Ari, we
discovered, liked music too. He could recognize
two different varieties. If the tune was a Waltz, he
would move around the gramophone, bowing and
cooing. For a Military march however, he inflated
his chest and stomped up and down the room.

a) Give the meanings of the words below. One-
word answers or short phrases will be accepted.
i. Revolting:
ii. Retained:
iii. Inhabit:
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iv. Banished:
v. Inflated:

b) Answer in your own words.
i. Why was Ari- convinced that he was not a bird
at all?

ii. What was Ari’s reaction if one got ahead of him
while walking?

iii. What expression in the passage does the writer
use in describing Ari that compares him with
a human being?

iv. Give a phrase which is used to express Ari's
anger if he was left too far behind while going
for a walk with the family?

v. Indicate how Ari demonstrated his love for
music.

2. Read the given poem and answer the questions
that follow: (10 marks)
MOTHER TO SON
Well son, I will tell you:

Life for me has not been no crystal stair. It's had
cracks in it and splinters.

And boards torn up,

And places with no carpet on the floor-bare.

But all the time

I have been climbing on, and turning corner's
And sometimes going in the dark where there has
been no light.

So, boy, don't you turn back. Don't you sit down
on the steps cause you find it kind of hard.
Don't you fall now for I am still going, honey, I am
still climbing,

And life for me has been no crystal stair.

a) What has the mother compared her life to?
b) What kind of a life has it been for the
mother?

c) Describe briefly the mother's attitude
towards life?

d) What does the phrase 'crystal stair' imply?
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SECTION 'B' WRITING

. Write an essay on any of the following:(10 marks)
a) Leadership

b) Imet a stranger at the railway station.

c) When my father asked me to stop using the

mobile phone

. Write a letter to your brother giving him an
account of the recent incident which took place at
your school where a boy saved another boy's life.

(10 marks)
. Write a picture composition based on the
following graphic. (10 marks)

SECTION 'C' GRAMMAR

. Rewrite the sentences as directed in brackets,
without changing the meaning of the sentences.
(10 marks)

a) Suman has worked hard at school. (Rewrite
the sentence using an adverb in its correct
position)

b) If you don't move your bicycle, somebody will
trip over it. (Change this if sentence into or
sentence).

c) She was very upset when she heard the
news. (Change this statement into a yes or
no question)

d) The pastor preached to an attentive
(Fill in the blank with a suitable Collective
Noun).

e) It was a fit to be laughed at Idea. (Rewrite the
sentence by substituting the underlined
phrase with an adjective)

f) Thieves often break into these apartments.
(Start the sentence with These')

g) I am giving you this medicine. Take it at
bedtime. (Join the two sentences using an
infinitive)

h) How many people can this auditorium
accommodate? (End the sentence with .........

auditorium?")

i) She is so clever that no one can fool her.
(Replace 'So ......... that' with 'too to').

j)  The manager showed his skill in handling
the situation. (Rewrite replacing the

underlined words with an adverb).

2. Join the pair of sentences with appropriate

conjunctions: (5 marks)

a) Ayush does not like tea. He does not like
coffee either.

b) Shubham will come back. I do not know the
time.

c) Payal left for Yemen. She sold all her
furniture.

d) Monica was to reach here at 8. She has not
turned up yet.

e) Ankit has no apples in the shop. He has to
buy apples.
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3. Write the antonym of the following: (5 marks)

a) Transient
b) Virtuous

c) Ebb
d) Frown
e) Firm

4. Write the synonym of the following: (5 marks)

a) Predicament
b) Silent

c) Stop

d) Peculiar

e) Synonym

5. Complete the given sentences with the correct

form of verb: (5 marks)
We decided to travel by car and (@) (leave)
the house early. We (b) (be) on the road for
two hours when our car _ (c)(hit) a stone that ___
(d) ( lie) in the middle of the road. The car

(e)(go) off the road but we ___ (f) (escape) with
minor injuries. Had we __ (g)(travel) faster, we __
(h) (involve) in a serious accident. The mishap __
(i)(delay) us did not (§) (damp) our
enthusiasm.

6. Fill in the blank with prepositions: (5 marks)

a) The soccer player was shown a yellow card

for arguing the referee.
b) Mr. Donald will call him tomorrow.
c) The exhibition was a complete sell
d) How can she put with  such

undisciplined students?
e) The man broke
rushed to the dais.
f) We must cut on wasteful expenditure.
g) Though I was young my father had great

the cordon and

confidence Me

h) The novelty of being a celebrity wears
ultimately.

i) Rohit wasn't looking where he was going and
he walked a lamp post.

j) She is the nicest person I have come

7. Change the following sentences into passive

form or vice-versa (5 marks)
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a) The police are unduly harassing me.

b) You might have given this information
earlier.

c¢) The checker checks the admission tickets at
the gate.

d) She is calling me.

e) Who stole your pen?

. Choose the correct option for the following
idioms: (5 marks)
a) At the helm of
i. At the main situation
ii. in the centre of the ship
iii. in the centre of the storm
iv. at the helm of the ship
b) An apple of discord
i. Sour Apple
ii. Also fight for an apple
iii. A quarrel
iv. The cause of the contention
c) Much Ado About Nothing
i. A play by Shaw
ii. To make a fuss over a small matter
iii. Talk about nothing
iv. To make a noise
d) Plough a lonely furrow
i. Plough the sands
ii. Work single handedly
iii. Plough the field
iv. Work in a furrow
e) A Gala day
i. An eventful day
ii. A day of success
iii. A day of merrymaking
iv. A day of significance
. Change the following sentences into indirect
speech (5 marks)

thewinningedge.co.in

a) She said. “Oh dear! I have spilt coffee on the
table."

b) He said to me," When will she go to Jaipur?"

c¢) He said to his servant,' Go away at once."

d) He said, 'Yes, I am at fault."

e) They said, "Wow, what a pleasant weather it
is!"

f) Mohan said to Lata, "Let us watch some
good movie."

g) She said to me, "What can I do for you
dear?"

h) “Cheer up, mother, I shall go and work
somewhere,” said Veena

i) The girl said, “ How tough the paper is

j) Isaid to the guard, “ When does the next
flight come in?”

"7

10.Complete the following similes. (5 marks)

a) Asfitasa

b) As white as a

c) Astight as a .

d) As as a lark.
e) Asbusyasa

11.Name the following: (5 marks)

a) Words written on the grave,

b) A government formed by the nobles,
c) A state of abstention from marriage,
d) A meeting of preaches or delegates,

12 Fill in the blank with correct option: (5 marks)

a) We should (practise, practice) the
game everyday.
b) During the rainy season (lighting,

lightning) struck him.
c) He gave his (ascent, assent) to our
proposal.
d) Our school will be built on this (site,
sight)
e) The defeat in the match had an adverse
(affect, effect) on him.
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GENERAL KNOWLEDGE

Time: 60 minutes

Instructions:

1.
2. There is no negative marking for any wrong answer.

3. Do not over write, dual answers shall not fetch any marks.
4. All questions to be answered on the question paper only.

Maximum marks: 75

There are a total of 75 questions and each question carries one mark.

o

1
2
3.
4

FA 75 T4 & 3TN TF T T 3 H 2
ol oft TTeTd SR S fTT IS FoRIeneh FeR TR 2

MRS 7 L, el ST T IS 37k T fireim
aefl I % I IH-uF W A

{TICK ( v ) THE CORRECT ANSWER}/ {8& S| R (¥") favrm= e

Which country will host the 2023 ICC Cricket
World Cup? / 13312023 ICC fehahe forg 9 oY ot

HAT?

a) India / 9a

b) England / 3<is

c) Australia / sfefermr

d) South Africa / afér sTshie

Which astronomical observatory in India has
been added to UNESCO list? / 9ra ¥ forer wmmefir

ST 21 IRl shT F=ft | SiTST 7T 22
a) Madras astronomical observatory / #s¥H

G St

b) VainuBappu Astronomical Observatory/
EREIERCHIRIPERNISI

c) IUCAA Girawali Observatory / IUCAA firmaett
eI

d) Bihar Astronomical Observatory/ foRR @ea
LT

Who won the Best Actor award at the 2023
Academy Awards? /2023 STohTEH! TERRI § TE98 STRaT

T JEhTL fore sfim?

a) Leonardo Di Caprio / fermret fg &ften

b) Robert Downey Jr. /T S=At fRR

c) Tom Hanks /W &

d) Brendan Fraser/sigd et

PARVAZ Market Linkage Scheme is launched by
which Indian Union Territory? / PARVAZ HThe feichst
ST foher TRfter S ST ST T Y R S B2

a) Puducherry / qg={t
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b) Jammu & Kashmir /S 3R F3R

c) Delhi/feeedt

d) Chandigarh/=Eg

Dr. N. Kalaiselvi has become the first Woman
Director General of which Indian Research
Organisation? / Ef. T, Forderd! o TR STTEEM HeT
ER RN NI HIECHEACE R

a) Indian Council of Social Science Research

/ T AT T ST uftye

b) Indian Council of Agricultural Research
/ AT Y g aiteg

c) Indian Agricultural Statistics Research
Institute / VAR FN Hifteasht Srgeem deam

d) Council of Scientific and Industrial Research

(CSIR) / afe 3 stenfies sTeem aftsg (CSIR)

Which is the world’s first carbon negative

country? / T T T el THIIH ST i AT 872
a) India/ 9=a

b) Bhutan/ 9=

c) South Korea /zfor sifm

d) Singapore/ fam

‘Danuri’ is the moon mission of which country?
JwTR fo e ok g firer &2

a) Malaysia /#afsmT

b) Japan/ SUH

c) South Korea /af&wraifer

d) Singapore/ f&mg
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10.

11.

12.

13.

14.

Which city/state will host the 2026
Commonwealth Games? / &MH @ IEVAST 2026

TgHEH Wl ol AT T2
a) Durban / @A
b) Delhi / faeeft
c) Birmingham / sfifery
d) Victoria /fa=ifar
India’s first underwater metro will be
inaugurated in which city? /¥R % Tgeft ieamet B
1 35T foher T  fora Smamm?
a) Hyderabad / t&@mE
b) Kolkata / sictehrr
c) Bangalore /3R
d) Pune /79
Which of the following is not a cereal crop? /
Frfafad 5 8 & 39S 6 wod T2 82
a) Wheat/ﬁ'a;
b) Rice /=m&A
c) Potato /3]
d) Maize /AdHT
Which Indian State has appointed Deloitte India
as its consultant? / ford TR Tea = Sefise Shgam st 7o
ATEHR g T &2
a) Uttarakhand/ 3W@s
b) Uttar Pradesh /3 9
c) Himachal Pradesh /f&ame geur
d) Gujarat/Tsd
Who won the 2023 Australian Open Men's
Singles title? /2023 ATl A9 T& That 1 Raama
[ERERIGIN
a) Rafael Nadal / T%et TSIl
b) Roger Federer / TSR %eX
c) Novak Djokovic / &t SThifa=
d) Andy Murray/ Ggtm

Which institution conducts ‘Abhyaas’
programme to guide students in Competitive

Examination? / & € deer gfeamft wlier & S o1 AntestT
A o T 1o ShTeishy TN ST SRt 82

a) ISRO / 5@

b) IIT-Kharagpur/3T$sser -GS

c) All India Radio News /3 3fear et ==

d) DD News/ i€t =

Which Ministry conferred the India Pharma and
India Medical Devices Awards 2022? / o o™

7 3fean wmi e e Afewa feamsy s@teH 2022 W foram?

a) Ministry of Health and Family Welfare /&g
T AR sheToT HaTer ™

b) Ministry of Chemicals and Fertilisers /W= T
3 HATT
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15.

16.

17.

18.

19.

20.

¢) Ministry of Home Affairs /7g #e/

d) Ministry of Science and Technology /faFm &
NIl warer

Which of the following is not a contribution of

India to the world: / frefaRad & @ =i @1 fag =1 v =6t

a) Ayurveda /3RER

b) Yoga /A
¢) Chai /=m
d) Zero/sfr

Which Company launched M15 Petrol, with 15
per cent blend of methanol with petrol? / fa st

FUZIA ok T 15 TfereTd AYATe firsror s arer M15 Ugie at o

a) Indian Oil Corporation/ & ifet SANEH

b) Bharat Petroleum/ ¥R Ugiferay

c) Oil and Natural Gas Corporation /dd Td SThfdeh
o fmg

d) GAIL Ltd/ 7 feafies

First flight of Akasa Air has been inaugurated
between which of the following two cities in

India? / R & frefafad & & for 31 w1=i o off=r sTemeT T
T gt IS T 35T foR T 72

a) Ahmedabad to Lucknow / 3TeHaETE ¥ @3,

b) Jabalpur to Delhi / Seeq & faeeft

c) Chennai to Mumbai / 3=E ¥ 13I§|’$c

d) Mumbai to Ahmedabad / 13I§|'$c Y ITEHETEE

‘Badhe Chalo’ campaign under Azadi ka Amrit
Mahotsav has been launched by which Central

Ministry? / 3TelTel sl 3Hd Helcad % qed ‘5 Jell . S

a) Ministry of Culture / §&h{d Ha™

b) Ministry of External Affairs /faewr #amem

c) Ministry of Housing and Urban Affairs/ 3m&m&
FR TRt AT B AT

d) Ministry of Home Affairs/ 7g #ac™

Military exercise YudhAbhyas’ is held between

India and which other country? / wRa 3R foha 3=

9 o offe 7T ST g ST ST fehaT ST 82
a) Australia / sfefern

b) Japan / SHME

) USA / 7uam

d) France/%®

Who chairs the National Disaster Management
Authority (NDMA)? / TSI STTIET Yeie ITRTT (NDMA)
T STEALTAT I LT 22

a) Home Minister/ T& %5

b) Prime Minister/ gam ==

c) Finance Minister /foa d@:ft
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21.

22.

23.

24.

25.

26.

27.

d) President of India,/ Ra o Tsgdfa

Benson and Hedges Cup is related to which
sports? / A 37T 9 Y foher Tt & Taiferd 82

a) Hockey /Twht

b) Cricket / fshhe

c) Football /%

d) Basketball /aThesiiel

In which year, Telangana was carved out of
erstwhile unified Andhra Pradesh? / foaas, aeimmr
T JeeTcl! Ui AT STG¥T § ST fohalt TRIT om?

a) 2012

b) 2014

c) 2016

d) 2017

What is the target year set by India for first

Human Space Mission Gaganyaan and first
Human Ocean Mission? / 9Rd gRT 98 A fafier
g A 37 Yed A HRETR fieE % foe @ av @
et fopam mram &2

a) 2022

b) 2023

c) 2024

d) 2025

Which state has received Agasthiyamalai

Elephant Reserve as its fifth Elephant Reserve?
/ Tora T T 31ue uiere greft fieTe o &9 H sTrecmaTs wreft fetd

TH 3T 82

a) Karnataka /#ie®

b) Andhra Pradesh/ 31ig yasr
c) Kerala / ¥

d) Tamil Nadu / afferg

Which Indian City hosted India International
Seafood Show 2023? / fe TR w1et 3 Efear demzma

HIEE T 2023 T AT T2

a) Kochi /=if=

b) Mumbai /13;6!?

c) Chennai / ==

d) Kolkata / shIcehrar

Constitution of India came into effect from? / R

1 G shel ¥ AT gAT?

a) 15 January 1950/ 155Had 1950

b) 26 January 1950 /26 SHell 1950

c) ¢)15 August 1950/ 15 3R 1950

d) 15 January 1950/ 15 SHadt 1950

Where and when was the second Buddhist

council held? / & slig qftwe el A shel RIS HT 75

oft?

a) Patliputra in 250 BC/WRfiqa 250 381 & &

b) Sri Lanka in 1st century BC /sficieht qgeil sraredt
e

c) Vaishali in 383 BC / S=Teit 383 S6Tq& H

thewinningedge.co.in

28.

29.

30.

31.

32.

33.

d) Mandalay in 1871 AD/ Higct 1871 3. 8

Which of the following galaxy is closest to our
galaxy? / fefeftad & & i Ht SAThTmiTT eHT SATRIIRT %

el R 82

a) Andromeda galaxy / UEHST SATHRET

b) Small Magellan Cloud / ST #TeH saet

c) Triangulum Galaxy / Feeroffr stermemim

d) Centaurus A / TRH A

At which among the following sites of Indus
Valley Civilization, the rows of distinctive fire
altars with the provision of ritual bathing have
been found? / e =et @ o TcTRad wereti H & fofd o
I T o e o @ fafire sifiq afet 6 vt o w8 &2
a) Mohen-jo-Daro / Higd-S-aRI

b) Harappa / gg™I

c) Kalibangan / hTeilsi

d) Lothal /areret

How much time it took for Constituent Assembly
to finalize the constitution? / @faem aur st w@fqem =
sifem &9 3 F feraan wm e

a) 2 Years 11 Months 17 Days / 2% 11 5&H 17 f&
b) 2 Years 9 Months 8 Days /2 3% 9 w&H 8 fa7

c) 2 Years 7 Months 18 Days / 2a% 7 °4&H 18 faa
d) 2 Years 5 Months 20 Days /234 5 7eH 20 f&7
Which among the following is the correct set of
the plays written by Harshavardhan in Sanskrit?
/ Frfafaa 5 @ % 1 s¥ad g Seea § fore T et # agt
q R

a) Malavikagnimitram, Vikramorvashiiyam and

Abhijhianasakuntalam / HTATRTT-THE,
IEEZIENIRL N I BRIERIE T
b) SvapnaVasavadattam, Pancharatra and

PratijnaYaugandharayaanam / @« drgd<dH,
. ik
c) Nagananda, Priyadarshika and Ratnavali./

AT, FHR T
d) None of these/ 374 ¥ IS &

Which of the following rulers belonged to the
Ghulam dynasty? / fr=fafad 5 & 9 |1 3 Tom a9

<RI AT?

a) Iltutmish /seqafisT
b) Shah Jahan /el
c) Akbar /3HH

d) Humayun /89

From where do male mosquitoes get their food?

/ TR A= YT IS el o ITH B 22
a) Human Blood /dFa&h
b) Stagnant Water /ferurt
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34.

35.

36.

37.

38.

39.

40.

c) Sap of Plants / Wi &1

d) Dung and Garbage/ TR 3R &=

A thermostat is a device used for ___ / 9Hi®e T

Sy R fomepr sy & e e smar @

a) measuring electricity /fosteft arem

b) measuring heat / T g1

c) automatically maintaining a steady / @=fera
Y ¥ T fEX a9 s W@ temperature

d) producing heat / mf 4T &

Which Article is related to Equality before law? /

T ET ST FIT o GHET G § Heiferd 22

a) Art. 13 /317 13

b) Art. 14 /37=s% 14

c) Art. 15/ 343;5429?{ 15

d) Art. 16 /317 16

What is the age of Earth as calculated? / THT &

SR Jecft 1 371 4 7

a) Age of Earth is 4.543 billion years/ Jii i g
4.543 fofo ad &

b) 5.543 billion years/ 5.543 fofers as

c) 6.235 billion years/ 6.235 faferm ad

d) 1.235 billion years/ 1.235 fafers= ad

What is the smallest unit of weight? / g i Te@

B RIS FAT 22

a) Ratti /Tt

b) Drona/3mwT

c) Tola /dreT

d) Masha/ Amm

Which of the following sanctuary is well-known

for elephants / frefafad o @ % a1 snrmos grfoET & foe
BIEEA

a) Kanha /& =g1

b) Gir /fr

c) Kaziranga/®sm

d) Periyar /4f@R

Biofertilizers convert nitrogen into which of the
following? / 3d &tk AEeeH &I fFefafas & o frad
uftafdd #d 82

a) Nitrates /TEeeH

b) Ammonia /T

c) Nitrogenase / TTEZISHST

d) Ammonia in acid/ 3t ® =T

In which year was the Swaraj Party founded? /
TS et hT o fordt A g3 off?

a) 1919

b) 1920

c) 1923

d) 1925

thewinningedge.co.in

41.

42.

43.

44.

45.

46.

47.

48.

Which is the deepest point on earth above sea

level? / T9Z T & X Jeall T Fedl e fofg i a1 22
a) North Channel /3t 37a

b) Pacific Ocean / J=Iid HEETR

c) Mariana Trench /9T &=

d) Red Sea /AT AR

The first woman to climb mount Everest was /

ST TG W =G ATt weelt Htea o

a) Marie Jose perc/& i ush

b) Florence Griffith Joyner / i@ fifthe SR

c) Junko Tabei / J=hI s

d) Jackie Joyner Kersee / St Sitg aheff

Which one of the following countries is not a

member of ASEAN? / f=fafaa & @ = a1 3w sl
BRGSO R

a) Brunei Darussalam /@%W

b) Cambodia,/ Feifear

c) Vietnam // foaaam

d) India/ 9/a

India first took part in the Olympic Games in the
year / YR 3 Ugelt S 3AciUeh Wedt § a9 5 9T foram o

a) 1920
b) 1928
o 1972
d) 1974

Which law was called the black law by Gandhiji?
/ TTEASHT = ToRE ST Rl TR S el o1

a) Rowlatt Act /Tcie tae

b) Communal Award / |iYeTRiF &R

c) Hunter Commission /2T 3R

d) Montagu Declaration/ Hie™ =on

What are the molten rocks under the surface of

the earth called? qealt i Hag % =t fUErelt g5 9gMi i &1
T SITT &2

a) Basalt/3@<

b) Laccolith / @eiferer

c) Lava /dmErn

d) Magma / &1

Article 370 was revoked from the state of J and
K on? / S8 37N Y 7 § 37T 370 el AT T 17

a) 15 January 2020/ 15 SHaE 2020
b) 14 February 2019 /14 %= 2019
c) 15 August 2019/15 3T 2019
d) 06 August 2019 / 06 3FTET 2019

Land is included in the circle — / 4fi & 3= # smfirea
-
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49.

50.

S1.

52.

53.

54.

55.

a) upper crust only / Sdd U L
b) upper and lower crust /W 37t et e
c) upper and lower crust and solid upper part

of mantle / Ut 3 F=eft e 3 Hea 1 3 Ut
T

d) none of these / 38 & %1$ &l

Which is the largest moon in our solar system? /

TN TS o1 T ST =IZHT i 97 82

a) Ganymed (Jupiter) /THIuE (JeEdfd)

b) Titan (Saturn) /2rged (@)

c) Callisto (Jupiter) /e (seeafa)

d) Io (Jupiter) / 3T (S&wUfer)

Veda, which is partly in prose and partly in
verses is __? / 98, St ({3 &9 & T 7 A 37y ®U A
AR,

a) Rigveda /&@g

b) Samaveda /@mag

c) Yajurveda / Zﬁﬁﬁ

d) Atharvaveda /3¥dag

Where is the International Court of Justice? /
a) The /BT

b) Berlin/afda

c¢) London/wed

d) Warsaw /ardl

The Acid in gastric juice is / g% @ H tRg E@T 8
a) Acetic acid/ tfaRes tfee

b) Nitric acid/ el tfre

c) Hydrochloric acid/ TEgHAGE THE

d) Sulphuric acid / wHE s

The first Asian Games were held in / T TS T
el I fepT T o

a) Manila / e

b) Tokyo / &t

c) Jakarta / Sehrat

d) New Delhi / % foeeft

Which of the following wave passes only through
the solid medium? / fFr=fafad & & == @t qo1 Faa 3G

e & S A 82

a) P-Wave (Primary Wave) /P-3d (STefie o)

b) S-Wave (Transverse Wave) / S-3d (ST )
c) L-Wave / L3F

d) All the above / 3IWrh a4t

What is the full form of ESA? / ESA % {0l &9 #4182
a) European Space Agency/ JUd sfafe TsE
b) European seculars agency/ I awf-rue TS
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56.

57.

58.

59.

60.

61.

62.

c) East Space Agency /3 T8 TSE!

d) Earth Space Agency / 3714 @& Tsdt

When did UN General Assembly established UN
industrial Development Organization? / ®Jh Ut
HETAT = T U ST TorehTe TS 3T TTIAT %l h1?

a) 1986

b) 1966
o 1967
d) 1965

The first Defence Minister of India was / ¥&d &
REGRGIREIR)

a) K M Cariappa /3 UH s

b) Gopalaswami Aiyangar / TMUTeTETH 3R

c) Baldev Singh / soiea fég

d) Sardar Patel /H@R %A

Which among the following planets is smaller in

size than the Earth? / fr=fefad & & & @1 78 gedft &
ST T BleT 82

a) Neptune / ﬁu%agr

b) Venus / %

c) Saturn / WA

d) Uranus / EE‘-!’H

Which of these rocks is the oldest from the point
of view of construction? / 398 & & €t wgM fmfor &t
e o we g 22

a) Igneous rock /3T WM

b) Metamorphic rock/ ®9idid IgH

c) Sedimentary rock /3fd@rd FgH

d) None of these / 374 ¥ Is Tal

The term for live audio-visual meet with two or
more participants, remotely located and
geographically dispersed: / aramar# f¥e gl &
|1,  fed S imifores 7 & Sl gu age Affear-fagere e
351\?11{31&':

a) Tele-conferencing /eft-i=3hfiT

b) Mobile /ureTse
c) Email / 8«
d) Data/

In which state is the World Heritage Site named
Basilica of Bom Jesus located? / sfafoiet it dm

St e forg e vt fordt T o e 82
a) Goa /T

b) Maharashtra / #8NIg

¢) Manipur /¥t

d) Tamil Nadu/dafterTg

Sabarimala is in which state? / @eiiurern g Tsa &
&
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63.

64.

65.

66.

67.

68.

a) Kerala / &

b) Tamil Nadu / dfierrg

c) Karnataka / #fe®

d) Andhra Pradesh /37y yesr

Husari and Bihuna are dance forms of which

state? / gaL 3R forgT fobe TS o T ®T 82

a) Bihar /faERr

b) Assam / 3@H

c) West Bengal / 9f3m smer

d) Orissa/ 3g™T

Which court exercises the jurisdiction of the
Union Territory of Lakshadweep? / &5 Inféd wear

TAETET F ST &1 3T JANT Rl T AT HAT 82
a) Kerala High Court /3 3= =™
b) Tamil Nadu High Court/ dfieHTg 3== =

c) Bombay High Court / STt 3= <RI
d) Calcutta High Court/shdesdr == =A=H

How much of the Earth's surface is covered by

sedimentary rocks? / edl il @ag o fohaT fewa STa@mer
T Y THR?

a) 71%
b) 81%
c) 85%
d) 75%

Who can change the number of judges of the

Supreme Court? / Gdi=d AT & =RATET 6t T i

e TR &2

a) Parliament by law /888 ST 51T

b) Presidential Order/ Trgufd s Taw

c) Notification of the Central Government / &%
T T FAfergT

d) Supreme Court notification/ Hdied =T it
SRR

LN

Who among the following can remove the
Governor from his office? / fi=fafad & & =7 TsadTe

1 I U § T HHAT &7

a) Parliament /&%g

b) State Legislative Assembly / T3 fareme«m
c) President / Trsgufa

d) none of these/ 8 & 15 T2l

Which statement is correct about the laws of

reflection: / e o fFaT % TN & I |1 HI Tl 2:

i. The incident ray, normal ray and the reflected

ray all lie in the same plane. / safer foor, sifireter
forom it qrrarfefer feror Eneft weh & qt & et 2

ii. The angle of reflection is always equal to the

angle of incidence. / W IV EAIIT STYGT 10T &
ENEI IR

thewinningedge.co.in

69.

70.

71.

72.

73.

74.

iii. The angle of incidence is equal to the angle
formed by normal ray. / 3119 shivr sif¥etsr fertor g

SFITT 7T 10T o ST el 2l
iv. The angle of reflection is equal to 90¢°./ W=
T 90° F T 2
a) Bothi. and ii. /i. 3 ii 3Hi
b) Both ii. and iii. / ii. 3 iii &I
c) Both iii. and iv. / iii. 3 iv g
d) i.,ii. and iv. are correct /i, ii. 3 iv. &I §

The Article 123 of the Constitution deals with? /
i 1 FIT=e 123 forad wsifeq 22

a) Advisory Jurisdiction of the Supreme Court
/TETeE SR T TATEHR

b) Presidential Ordinances /Tsgufd & 37eamesr
c) Election Commission /T A&
d) Special status of Jammu and Kashmir/ S/

S HTH T T foiy =it

The Department of Border Management is a
department under which ministry? / #W1 Yegq

form o HatTerar 3 @7efi ek form 22
a) Ministry of Home Affairs / 7g @/

b) Ministry of Defense /&1 §Te

c) Ministry of Road Transport / g IRag FAe™
d) Ministry of External Affairs /foesr #me™
Fatehpur Sikri was founded as the capital of the
Mughal Empire by . / Sdeqt @ieh st €TomT 31
auST AT F T RIS o

a) Jahangir / SRR

b) Akbar / &K

c) Babur / &R

d) Humayun /gﬂT{

The proposal to remove the Vice-President can be
moved in / STISIRT T T T TEATS et T ST TRl &
a) Rajya Sabha only /%ad TSI«

b) Lok Sabha only/ dac AdT

c) in a joint session of Lok Sabha and Rajya
Sabha / WIHET ST TSFET & €Ik @ §

d) Both Lok Sabha and Rajya Sabha / @« 3K
TSTEAT GHT

Sound can not travel in which medium? / &af f&g

T § AT T T Tl 1?2

a) Solid / 3™
b) Liquid /a@
c) Gas/ ™

d) Vacuum/fata
Which one of the following schedules of the
Constitution of India is to be amended to create

a new state? / WRd ®foer %1 ffotiaa 7 & fore sTeeh
T GG ek Ueh 77 TS SR STHET 82
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a) First Schedule / Tl sgg=t
b) Second Schedule /gHT 17g=h
c¢) Third Schedule /ded sre=t
d) Fourth Schedule/ =teft stge=t

75. Which is the largest Lok Sabha constituency of
India in terms of area? / &%d I gf¥ & WA T HoId

thewinningedge.co.in

T ArHET e & R |1 82

a) Ladakh /a@&€/@

b) Arunachal Pradesh / 3T€vr=ie e
c¢) Kutch / &5

d) Barmer /¥TeH
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MATHEMATICS

SOLUTIONS

Area of sector /et HT FThAI= 3% X mr?
=20 2 4x4

360 7
=2x%2x16 =559

9 7

16 25 7 8 1

25" 3’15’5’ 15

Taking LCM of 25, 3, 15, 5, 15 : /25,3, 15,5, 15 &
LCM T §T:

3 25, 3, 15, 5, 15

5 25,1,5,5,5

5 5,1,1,1, 1
1,1,1,1,1

LCM=3x5x5=75
Now, we will make the denominator of each term
= 75./ 319, T I UG T &L = 75 S

16 3 48

253 75
25 _ 25 625
2

3

5 75
7

RARVE

15 5 75
8 15

5
1 3

— X ==
15 3 75

Now, compare the numerators and arrange in

ascending order. / ¥, qEHT H{ S HI AW FH H
aftyd

3 35 48 120 625

75’75’75’ 75 ’ 75
1 7 16 8 25

15’15’25’5" 3

LCM of 24 and 32 : /24 332 %1 LCM:

1 —_—
o=

5 75

2 24,32

2 12,16

2_ 6,8

3— 3, 4

2 1,4

z_l_.z
1,1

LCM=2x2x2x3x2x2=96
Now, divide 2000 by 96 / 37, 2000 T 96 & 9T &

96) 2000 (2
192
80
80 Remainder/ 31¥
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PART A

The greatest number less than 2000 which is
divisible by 24 and 32 are 2000 — 80 = 1920
/2000 ¥ FH T8 St AT ST 24 3T 32 T 9T 7, 2000 — 80

=1920

27 - [48 + {4+ (15— 13 = 2)}]
27 - [48 = {4+ (15 — 15)}]
27 - [48 = {4+ (0)}]

27 - [48 = {4}]

27 — [48 + 4]
48

27 - [T— 12]

27 -12 =15

a+b+c=9

ab+ bc+ca=15

a’?+ b%+c?=7?

(a+b+c)®>= a?>+b*+c?>+2(ab + bc +ca)

92 =qa?+ b%+c?+ 2(15)

81=a?+b%+c%+ 30

81—30= a? +b?+¢?

a?+b?+c?=51

Let the numbers be x — 1,x,x + 1 ./ T&AE x-1,x,x+1
H

According to the question; / 94 %?ﬂgﬁ'l'(;

x+1

L r e 240
5 3 4
12(x-1)+20(x)+15(x+1) _

40
60
12x—12+20x+15x+15
0 =40

47x +3 = 60 x 40

47x + 3 = 2400 = 47x = 2400 — 3
47x =22 =51
47
x =51
Numbers are : / G&T &:
x—1=51—-1=50
x =51
x+1=51+1=052

Speed = 120 km/hr
Time = 36 min

= X hours
60
Distance = Speed x Time
=120 x =
60
=72 km

i = 120 ferdiyerer
T = 36 fie
36 .

60
aﬁzwﬁxw
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10.

=120 x 3¢
60
=72 forefY

Let the first part be x.
Then, the second part is = 34 — x

Given :
4 2
;XXZEX(34—X)
4x _ 68-2x
7 s
4x x5=7(68 — 2x)
20x =7 X 68 — 14x
34x =7 X 68

7X68

34
x =14
First part = x = 14
Second part =34 —x =34 —-14 =20

T AT T&elt 9T x 2
TO6T, 0 9T = 34 — x
IECIRICIE

4 2
;xx—gx(34—x)
4x 68 —2x
7 5
4x x5=7(68—2x)
20x =7 X 68— 14x
34x =7 X 68

7X68

34
x =14

TEAT 9T = x=14
T T = 34 — x=34-14=20

3x—5
2x% —x — 6+/6x3 — 13x2 — 13x + 30
6x® —3x% —18x
- + +
—10x2 + 5x + 30
—10x2 + 5x + 30
+ - -

0

Ans = (3x—5)

Area of inner square ABCD = side X side
=21x21

= 441 m?

Area of outer square EFGH = side X side
=(21+6)x(21+6)

=27 %27

=729 m?

Area running area between both square
=729 m? — 441 m?

= 288 m?
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11.

Hiafteh a1t ABCD T &whet = 9T x ST
=21x21

=441 m’

STedt &t EFGH 3T &1het = ST x ¥l
=(21+6)x(21+6)

=27x27

=729 m’

&Y QT ST ok sier oh =T T

=729 m’- 441 m’

=288 m’

E F

H G

Amount = Rs 3825/- in 4 years
Amount = Rs 4050/- in 6 years
Interest in 2 years = 4050 — 3825
=225

SI — PXRXT
100
225 — PXRX2
100
PR = 22X19° _ 11250
PR =11250  .oevven.... ()
SI — PXRX4
100
si=2
25
P+ SI = 3825

P+ 22 = 3825
Putting PR = 11250 from (i)

= P+ = 3825
P + 450 = 3825
P =3825—450
P =3375
Putting this in equation (i)
PR = 11250
11250 _ 10
R=20s = ?%

Rate = 13—0%

ST = 4 997 7 3825/- 704
Tf3r = 6 9T § 4050/- T
2 991 H SIS = 4050 — 3825

=225

_ PXRXT

100
225 = PXRX2
100
PR= 225%100 —11250
PR=11250 ............. @)
PXRX4
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12.

13.

14.

T TS =

25
P+SI=3825

P+iR_ 3825
25
(i) ¥ PR = 11250 @ W

=p+ 220 — 3825
25

P +450=3825
P=3825-450

P=3375

38 iR (i) H W@
PR = 11250

11250 10
— =—0
3375 3

Men Work / Earn Days
N I [ AT e
15 900 5
20 x(let) 8

15 XxxxX5=20x%x900x8

__ 20X900x8

15%X5
x=4%x60x8=240 x8

x =Rs 1920/-

Let the other triangle be 2x / A <o gaw Byt 2x
g

x2 + 122 = (20)2

x2 + 144 = 400

x2 = 400 — 144

x? =256
x =16
2x =3l

Area of Rhombus = % x diagonal; X diagonal,
HEII BT e = § « ferapot, x feraut,
= % X 32 X 24

=16 X24cm
=384cm?

MP = Rs 4600/-

Discount = 5%

GST = 10%

CP = MP - Discount

Discount = —x 4600 = Rs 230/

CP = 4600 — 230
= Rs 4370/ -
SP = CP + GST
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15.

16.

17.

= 4370 + 22 x 4370
100

= 4370 + 437

SP = Rs 4807/-

MP = 4600/- %.

BT =5%

GST=10%

CP=MP -2

B2 = % X 4600 =230/- .
CP = 4600 — 230

= 4370/-%.
SP=CP+GST

=4370 + 22 x 4370
100

=4370+437

SP = 4807/-%.

200% of a number is 90

Let the number be x

200
—Xxx=90
100
90
x =—=145
2

80% of the number
29 w45=36

100

Tereft T 7 200% 90 ©

WWF@T%X
200

F.OXX: 90

X =92—0 =45
AT T 80%

80

1 1 = %
21990 1991
2—1990 _ 2—1991 = 2%

2—1991(21 _ 1) = 2X

— 2—1991(2 _ 1) = 2X
2—1991 = 2X

x = —1991
Rate = ?

Let sum = x
Amount given = 2x

Time = ?years
SI=2x—x=x
g = PxRxT

100
1x =

XxXRx25
R=4%Xx4=16%

100x4

Rate of interest 16% p.a.

=7

qﬂ?ﬂﬁmxﬁﬂ=x
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18.

ﬁrlgl'lﬁTIZX

= 2o

SI=2x—x=xXx

S = PXRXT
T 100

L _x><R><25
X=00x 4

R=4x4=16%

TS 2T 16% Tid a9

Let the exterior angle be x.
Then, interior angle = 5x

x + 5x = 180°
6x = 180°
x=—"= 30

6
Interior angle =5x = 150°

Sum of interior angle of a regular polygon with
n sides :

(2n —4) x 90°

Each interior angle =
(2n —4)90 = 150n
180n — 360 = 150n

180n — 150n = 360
30n = 360°

(2n—4)x90°

= 150°

Number of sides = 12

HH TSI STaT 10T x B
ﬁb—(, ST I = 5x
x+5x=180°

6x=180°

180

x=——=30°
6

CP = Rs 2400/ -
Marked at 25% above CP

MP = CP + CP x ->
100
= 2400 + 2400 x =
100

= 2400 + 600

MP = Rs 3000/ -

Discount = 15%

Discount = — x 3000
100

= Rs 450/-

SP = MP - Discount

SP = 3000 - 450

SP = Rs 2550/ -

Profit = SP - CP

= 2550 - 2400

= Rs 150/-

Profit Percent = Frofit

X 100
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19.

PART B

AT T =5x= 1500

n YSIT3AT ATt U Trafi Sgyst o i hivii &1 I
(2n-4)x9070

e STidTeR I = M = 150°

(2n-4)90 =150n

180n-360=150n

180n-150n=360

30n=360°

n=22_12

4a2+%=4.(2)2+é
=4 x4+3

=16+1

=17

20. 4x% — [3y? — {5x2 — 2y2 — (x2 — y®)}]

4x? — [3y? — {5x% — 2y% — x? + y?}]
4x? — [3y? — {4x* = y*}]

4x? — [4y? — 4x?]

4x% — 4y? + 4x?

8x% — 4y?

CP = 2400/-

CP ¥ 25% 9T 3ifhd

MP = CP + CP x>

100

~2400+2400x ==
100

=2400+600

MP = 3000/-

T =15%

BT = % 3000

N 100

= 450/-

SP=MP @2

SP = 3000 — 450
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SP =2550/-

2515,
ST = SP — CP 4. Average speed / 3fteafd = S
2X60x90
=2550-2400 = o
=150/- _ 2X60X90
— T 150
FIT‘TH?ISﬁ:C—leOO =72 km/hr
=150 100 5. Let Son’s age be x.
_ ggof 610 Then father’s age = 2x?
I After 8 years ;
2. Dimensions of cuboid = 9 cm, 3.5 cm, 4 cm Son’s age = x + 8
Volume =[x b X h Father’s age = 2x? + 8
9x%x3.5x%x4 According to questions :
= 126 m3 2x2+8=4+3(x+8)
Surface area = 2 (Ib + bh + hl) 2x§ + 8=4+3x+24
=2(9%x35+35x4+4x09) 2x2+8=3x+28
=2(31.5+ 14+ 36) 2x°+8—-3x—-28=0
=2 x815 2x* —8x+5x—20=0
= 163 m? 2x(x—4)+5(x—-4)=0
2x+5)(x—-4)=0
BT 36 3T = 9 OHfY, 3.5 9, 4 At 2x+5)=0 (x—-4)=0
TR = 2x = =5 x—4=0
= Ixbxh =, -
9x3.5%4 x= - x =
=126 m’ Age cannot be negative

Son’s age = 4 years

E 457 =2 ((b+bhh) Father’s age = 2x? = 2(4)? = 32 years

=2(9%3.5+3.5x4+4x9)

=2(31.5+14+36) AHT SIS T 37 x Bl
=2 x81.5 ar forar &t 3w = 2x°
=163 m’ 8 T e
3. External volume of the box = (10 x 8 x 7) o2 Y 3 = x+8
=560 cm? fora ot 311 = 2x°+8
Internal volume of the box = st 3 SR
(10-2)x (38—2) X(7-2)=8 X 6 X5 2P 8443 (x48)
= 240 cm 2x2 + 8 =4+ 3x + 24
Volume of wood = 2%2 + 8 = 3x + 28
External volume - Internal volume 2x2+8—-3x—-28=0
=560 cm?® -240 cm?® 2x2 —8x+5x—20=0
=320 cm? 2x(x—4)+5(x—4)=0
Total cost of wood = 320 X 2 (2x+5)(x—-4)=0
= Rs 640/- (2x+5)=0 x—4)=0
2x = =5 x—4=0
-5
1o o1 SITEL SATFAT = (10x8%7) x=- x=4
=560 Tt HTY FHUMCH el 8 Thell
y . TR A =4T9
TR ST SR ST = 3
forar ot TRy = 242 = 2(4)2 = 3299
(10-2)x (8-2) X(7-2)=8%6%5 2
=240 T’ 6. Edge if a cube = 22 cm
o B Diameter of bullet = 2 cm
é - r=1cm
i Volume of cube = (side)3
=560 T’ -240 T’ = (22)3 = 10,648
=320 9 Volume of each bullet which is spherical in
4
TR T FA HIA =320%2 shape = _nr?
= 640/- T =IxZx (1) =Zcm?
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volume of cube

No of bullet =

10648
= X 21
88

= 2541 Bullets

volume of bullet

Ifg o = 22 At

et o7 =] = 2 |t

=19}

B T AT = (M)

= (22)% = 10,648

T, Tl 3T SR S e & = 2

=2xZ2x1) =8m3
3 7 21

B T ST
et shl 9T = ———————
oY 1 3TRrA
_ 10648 x 21
88
=2541 Tiferat

7. A’s one day work = 1io
B’s one day work = %
C’s one day work = %

(A+B+C)'s one day work =14+1i4t
10 12 ' 15

_ 6+5+4

T 60

_15_1

T 60 4

Suppose work is completed in x days.

A’s 2 day work + B’s (x —3)day work +

C’'s x day work =1

2X—+ (x—3)><i+ x Xx==1
10 12 15

1 x—3 X
S+ —+==1
5 12 15

_ 1245 (x—3)+4x

=1
60
12+5x—15+4x
== 1
60
_ -3 _
=0 =
9x —3 =60
9x = 63

Work lasts for 7 days.

1
AFTH TR HH = 1—0
1

Bamqaﬁﬁ::famm=5
(:aﬂugﬁﬁiwaﬂamn‘::i%

A _tr. r. 1
(A+B+C)" 3T U fa T 1 TRETRET
:6+5+4-

60
_15_1
60 4 N
A S x fo T & 9 & S 2
AF2 T FTFE + B (x-3) e w1t + ¢ w1 x g st
=1
2><1+( 3)><1+ ><1—1
10"V 2" ¥ 157
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1
st Tl
12+5 (x—3)+4x
=" =1
60
124+5x—15+4x
= " =1
60
_ 9x—-3 _
=23
9x-3=60
9x=63
_8 _
9 - .
7 feql doh =reran 2l

D S5cm c
4.3cm
1200 60°
A dcm B

1. Draw AB =4 cm

2. From A, draw angle = 1200

3. From B, raw angle = 60°

4. From B, draw line = 4.5 cm to C passing
through 60° arc.

5. Draw an arc from C measuring 5 cm

6. Join C to the point where 5 cm arc passes
the AD line.
AB = 4 Tft €ff=
A, = 120" ©fi=

B @, a1 101 = 60° i

B @, 60° =TT § 81 C %k = 4.5 i T@r i

C @ 5 Tt ATg 1 = T

C %1 34 foig & SIS w7t 5 Tt =19 AD Y@ & et &

A

40

Volume of wall/ /e 3T 3TIa = (33 X i—j X o

35 40

- (33 x 35y —) m?
10 100

_ 231 3

5
Cement and sand part,/ HHe 3T {d ITeT 9T =

1 231 2313
—==—m

10 s 50
Remaining part/ ¥ 90 = 25ﬂ - %

2310-231 ‘
T

50
Volume of each brick/ Ycdeh $¢ hT ST =

22 10 7

X
100 100 100
22X7

T 100%x10x100
2079

Number of bricks/ i &l T = —352—

100x10x100
_ 2079 _ 100x10x100

50 22x7
=27 x10x100 = 27000

~Bricks used /ST T = 27000
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10. a) 17;3x _ 4x3+2 = (5—6x) + 7X‘?|,'14
51-9x—20x-10 _ 15-18x+7x+14
15 - 3
41 — 29x =75 —-90x + 35x + 70
41 — 29x = 145 — 55«

—29x — 55x = 145 — 41

26x = 104
= =4
26
) 243 =5
x-3 x—4 X
2(x-4)+3(x-3) _ 5
(x-3)(x—-4)  x
2x—8+3x-9 _ 5

x2-4x—-3x+12  x
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5x-17 _ 5
x2-7x+12 x

5x%2 —17x = 5x% — 35x + 60
—17x + 35x = 60

18x = 60
— 8
18
10

x ==

3
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ENGLISH SOLUTIONS

SECTION 'A'

i. Disgusting

ii. To keep something
iii. To live in a particular place
iv. To make somebody go away
v. Higher than the usual.

i. Ari was convinced that he was not a bird
at all because he had no parents to teach
him how to fly.

ii. If you walk fast with Ari, he would be left
behind. He would run after you cooing
frantically and showing anger.

iii. As Ari was raised with human beings, he
refused to fly and walked instead like
humans.

iv. The phrase which is used to express Ari's
anger if he was left too far behind while
going for a walk with the family is “cooing
frantically, his chest pouting out with
indignation.’

v. Ariloved music, he would move around the
gramophone bowing and cooing to a waltz

tune, to military march he would raise his
chest higher and stomp up and down the
room.

a) The mother has compared her life to a stair
which had cracks in it and splinters and
boards torn up. It has places with no carpet
on the floor.

b) It has been a hard and struggling life for the
mother. She had struggled and worked hard
in her life. She has faced as lot of difficulties
in life.

c) The mother's attitude towards life has been
determined and optimistic. Though life has
not been easy for her, she has not lost hope
and had worked hard to excel in life. She has
faced a lot of problems but has never been
disheartened. She has always fought hard
and moved ahead.

d) Here 'crystal stair' implies an easy and
comfortable life. The mother says that life
has not been a 'crystal stair' for her i.e., it
has not been easy and comfortable for has.

SECTION 'B'

a) Leadership is the art of motivating and
guiding people towards achieving a common
goal. It involves having a vision, setting goals,
inspiring and empowering others to work
towards those goals, and making decisions that
align with the vision. Leadership is a critical
factor in the success of any organization, group,
or team. There are different types of leadership,
and one of the most effective is transformational
leadership. Transformational leadership is a
style of leadership that focuses on inspiring and
motivating followers to achieve their full
potential. It involves creating a vision and
inspiring others to work towards it.
Transformational leaders empower their
followers to take ownership of their work and
encourage them to develop their skills and
abilities. They provide support and
encouragement and foster a positive and
inclusive work environment. One of the key
features of transformational leadership is
charisma. Transformational leaders have a
magnetic personality that attracts and inspires
others. They are passionate about their vision
and their enthusiasm is contagious. They have
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excellent communication skills and can
effectively articulate their vision to others. They
also listen actively to their followers, take time
to understand their needs and concerns.
Another feature of transformational leadership
is individualized consideration.
Transformational leaders recognize that each
follower has wunique talents, abilities and
aspirations. They take the time to understand
their followers' strengths and weaknesses and
provide them with the support they need to
develop their full potential. They also provide
opportunities for their followers to learn and
grow. Intellectual stimulation is another aspect
of transformational leadership.
Transformational leaders encourage their
followers to think creatively and explore new
ideas. They challenge their followers to question
assumptions and think critically. They also
provide a safe space for their followers to
experiment and take risks, knowing that failure
is an essential part of the learning process.
Finally, transformational leadership is
characterized by inspirational motivation.
Transformational leaders inspire their followers
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to work towards a common goal. They create a
sense of purpose and meaning which motivates
their followers to go above and beyond what is
expected of them. They celebrate successes and
acknowledge the contributions of their followers,
creating a positive and supportive work
environment.

In conclusion, transformational leadership is an
effective style of leadership that focuses on
inspiring and motivating followers to achieve
their full potential. Transformational leaders
create a vision and inspire others to work

towards it. They provide individualized
consideration, intellectual stimulation and
inspirational = motivation. Transformational

leaders have a magnetic personality that
attracts and inspires others. They create a
positive and supportive work environment that
encourages learning, growth and development.

I met a stranger at the railway station and it
turned out to be an unforgettable experience. It
was a bright and sunny day and I was on my
way back home from a weekend trip with my
family. As we waited for our train, I noticed a
man sitting on a bench across from us. He
looked tired and seemed lost in his thoughts.
Curiosity got the better of me and I decided to
strike up a conversation with him. At first, he
seemed hesitant to talk, but eventually, he
opened up. He told me that he had just lost his
job and was headed to a new city to start over.
As he spoke, I could sense his frustration and
fear of the unknown. I listened to him patiently
and tried my best to offer words of
encouragement. We continued to talk and as the
train arrived, he got up to leave. Before he left,
he thanked me for listening to him and said that
our conversation had given him hope. He left
with a smile on his face and I was left feeling a
sense of accomplishment. Meeting a stranger
can be an intimidating experience, but it can
also be a life-changing one. It was fascinating to
see how a simple conversation could have a
profound impact on someone's life. It taught me
that everyone has a story to tell and sometimes,
all they need is someone to listen. This
experience also taught me the importance of
empathy and compassion. It made me realize
that we should never judge someone based on
their appearance or situation. We should always
be kind and understanding towards others,
especially strangers, as we never know what
they might be going through. In conclusion,
meeting a stranger at the railway station was an
experience that I will never forget. It was a
reminder of the power of human connection and
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the impact that we can have on each other's
lives. It taught me the importance of kindness,
empathy, and compassion towards others and I
will always carry these lessons with me.

As a Class 8 student, using a mobile phone has
become an integral part of my life. I use it to stay
connected with my friends, to browse the
internet and to play games. However, recently
my father asked me to stop using my mobile
phone, which came as a shock to me. At first, I
didn't understand why he was asking me to do
this, but upon reflection, I realize that there are
several reasons why it might be a good idea.
Firstly, using a mobile phone can be a major
distraction. As a student, I need to focus on my
studies and complete my homework on time.
However, my mobile phone often distracts me,
and I end up spending more time than I should
browsing social media or playing games. This
can affect my grades and my overall academic
performance. Secondly, using a mobile phone
excessively can be harmful to my health. Studies
have shown that the blue light emitted by mobile
phone screens can disrupt our sleep patterns
and cause eye strain. Moreover, constantly
using a mobile phone can lead to poor posture
and neck pain. These health issues may seem
minor at first, but they can have long-term
consequences if left unchecked. Finally, using a
mobile phone can be a source of addiction. It's
easy to get hooked on the constant stream of
notifications and updates that our phones
provide. This addiction can lead to a sense of
disconnection from the world around us and can
even affect our mental health. In light of these
concerns, I realize that my father's request to
stop using my mobile phone is a reasonable one.
However, I also recognize that giving up my
mobile phone completely may not be practical or
desirable. Instead, I need to find a way to use my
phone responsibly, without letting it distract me
from my studies, harm my health or fuel an
addiction. To achieve this, I plan to set some
guidelines for myself. For example, I will limit my
mobile phone use to certain times of the day,
such as after completing my homework or
during designated break times. I will also turn
off notifications for social media and gaming
apps, so that I am not constantly distracted.
Finally, I will make an effort to engage in
activities that do not involve my phone, such as
reading or playing sports. In conclusion, while it
may be difficult to give up using a mobile phone
completely, it is important to use it responsibly.
My father's request to limit my phone use is a
reminder that there are other important things
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in life, such as education, health and human
connection, that require our attention and
focus. By setting some guidelines for myself, I
hope to strike a balance between using my
mobile phone and living a well-rounded life.

Sender's Name,
Address.

Receiver's Name,
Address.

Dear [Brother's Name],

I hope this letter finds you in good health and
high spirits. I am writing to you to tell you about
a recent incident that took place at my school
which left a lasting impression on me. Last
week, during the lunch break, I was hanging out
with my friends in the school courtyard when
suddenly there was a loud commotion. I rushed
over to see what was happening and to my
horror, I saw one of my fellow students, Mark,
drowning in the school pool. I was frozen with
fear, but one of our classmates, John, sprang
into action. He dove into the pool and managed
to pull Mark to safety. John's quick thinking and
bravery saved Mark's life. After the incident,
everyone was talking about John's heroic act.
The school principal called an assembly and
praised John's bravery in front of the entire
school. John was overwhelmed with emotions
and received a standing ovation from everyone.
The incident left a deep impact on me. It made
me realize the importance of being courageous
and selfless in the face of danger. I feel proud to
be a part of such a brave and compassionate
school community. I hope you find this account
of the incident interesting. Take care of yourself
and give my regards to everyone at home.

Yours affectionately,
[Your name]

As the man sat on his chair, his eyes glued to
the screen in front of him, he couldn't help but
glance towards the window. Outside, the sun
was shining bright and the birds were chirping,
but he knew that the world outside was not safe.
The room around him was in complete disarray,
with papers and files strewn across the floor and
the desk. It was as if a storm had swept through
the room, leaving behind a trail of chaos. Behind
him, his faithful companion, a brown Labrador
Retriever, sat quietly, watching him with his big
brown eyes, he too was eager to step outside and
enjoy the beautiful weather. However, the man
knew better than to risk it. He knew that the
world outside was still dangerous, with harmful
germs and viruses lurking around every corner.
Despite the mess around him, the man
remained focused on his computer screen. He
was in the middle of an important meeting, and
he could not afford to be distracted. The
conversation on the screen was intense and he
knew that every word mattered. However, even
as he listened intently to the discussion, his
mind kept drifting towards the window. He
longed to step outside and feel the warm sun on
his face, to breathe in the fresh air and to run
free with his loyal companion. But for now, he
knew that he had to stay inside and do his part
to keep himself and others safe. He silently
wished for the day when the world would be safe
again, when he could step outside without fear
and when his furry friend could run free without
any worries. The environment inside his room
heightened his longingness to go outside. The
picture descries the barriers present between us
and nature in the modern times.

SECTION 'C'

a) Suman works hard at school.

b) Somebody will trip over your bicycle if you
don’t move it.

c) Was she upset when she heard the news?

d) The pastor preached to an attentive crowd
of people.

e) It was a good laughable idea.

f) These apartments have been often broken
into by thieves.

g) Iam giving you this medicine to take it at
bed time.

h) How many people can be accommodated in
this auditorium?

i) She is too clever to be fooled.

j)  The manager handled the situation
skilfully.
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a) Ayush neither likes tea nor coffee.

b) Ido not know the time when Shubham will
come back.

c) Payal left for Yemen so she sold all the
furniture.

d) Monica was to reach here at 8 but she has
not turned up yet.

e) Ankit have no apples in the shop therefore
he has to buy them.

Antonym

a) Permanent
b) Bad

c) Increase

d) Smile

e) Soft
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4. Synonym

a) Difficulty

b) Still
c) Finish
d) Strange
e) Alike
Correct form of verb
a) Leave
b) were
c) hit
d) was lying
e) went
f) escaped

g) been traveling

h) we would have been involved
i) delayed

j) dampen

6. Fill in the blanks.

a) With

b) Upon/On
c) Out

d) Up

e) Though

f) Down

g In

h) Out

i) Into

j) Across

a) I am unduly harassed by the police.

b) This information might have been given
earlier.

c) The admission tickets are checked at the
gate.

d) I am being called by her.

e) By whom was your pen stolen?

Idioms

a) At the helm of the ship

b) A quarrel
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10.

11.

12.

c)
d)
e)

Talk about nothing
Work single handedly
An eventful day

Indirect speech

a) She exclaimed that she had spilt coffee on
the table.

b) He asked me when she would go to Jaipur.

¢) He commanded his servant to go away at
once.

d) He admitted that he was at fault.

e) They exclaimed with amazement that it was
a very pleasant weather.

f) Mohan suggested Lata that they should
watch some good movie.

g) She asked me affectionately what could she
do for me.

h) Veena told her mother to cheer up, she
would go and get work somewhere.

i) The girl exclaimed that the paper was very
difficult.

j) I asked the guard when the next flight
would come in.

Similes.

a) Fiddle

b) Dove

c) Drum

d) Happy

e) Bee

a) Epitaph

b) Aristocracy

c) Celibacy

d) Conference

Fill in the blanks

a) Practise

b) Lightning

c) Assent

d) Site

e) Effect
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15.
16.

17.
18.
19.
20.
21.

22.
23.
24.

25.
26.
27.

GENERAL KNOWLEDGE SOLUTIONS

a) India / 9Ra

d) Bihar Astronomical Observatory / foer @i
LRI

d) Brendan Fraser / sigd el

b) Jammu & Kashmir / S 3R FwH

d) Council of Scientific and Industrial Research

(CSIR) / 391e ST 3PF=lfie STeH Tiwg (CSIR)
b) Bhutan/ ¥gH

c) South Korea / 3fer sifn

d) Victoria / fa=eifar

b) Kolkata/ sIctehrar

. c) Potato / 3]

. b) Uttar Pradesh / S@ ¥ew

. ¢) Novak Djokovic / e Sehifae

. ¢) All India Radio News / 3 gfean et =t

. b) Ministry of Chemicals and Fertilisers / W@&F

I I Hae

c) Chai (Tea) /=@

a) Indian Oil Corporation / 3fea it saRgH
Explanation: At Tinsukia, Assam (M15 is a blend

of 15% methanol and 85% gasoline).
TAETRTOT: 376 o fg R 7 (M5 15% HerTet 3R 85% e

T firsror )1
d) Mumbai to Ahmedabad/ H& ¥ STEHaTETE
a) Ministry of Culture/ Hhfd ¥e™
¢) USA/qua
b) Prime Minister /Y& 1
Cricket /fshahe

Tamil Nadu /dfierg
Kolkata /shlctehrdr
b) 26 January 1950/26 ST 1950
c) Vaishali in 383 BC /3Tt 383 S0 45

Explanation: The second Buddhist Council was
held at ancient city of Vaishali, what is now in
the state of Bihar bordering Nepal. It was held
under the patronage of king Kalasoka and was
presided by sabakami. This council was held
about a century after the first council.

TSRO TEA ST, TR AR oh ST J1et # AT ohi 775 off,
ST 319 Ut T HHT F AN foreR TS | B) T TSI HIATHIH

b)
b)
d) 2025
d)
d)
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28.
29.

30.
31.

32.
33.

34.

35.
36.

37.
38.
39.

40.
41.

42.
43.

44,
45,

TOT | TSI ol 7T oft 3T gHehl STeeadn werehrt 3 3 off| 7
TRwE Tget TiTg o ST U | A8 ST o TS off|

a) Andromeda galaxy /UgIHET STTREFT

c) Kalibangan /srefisi=

Explanation: Kalibangan is a town located on
banks of river Ghaggar between Suratgarh and

Hanumangarh in Hanumangarh  distric,
Rajasthan.

I FHIAGH T % SAATE Sl H qaTE AR
TG o i BT et o 2 W feord Tk W 2
a) 2 Years 11 Months 18 Days /2% 11 #&H 18 f&7

c) Nagananda, Priyadarshika and Ratnavali /

e, TSRt oK et
a) lltutmish / geqafH
c) Sap of Plants / Wi &1

Explanation: Plant nectar, honeydew and other
fluids.
TAEIRTOT; T T T, TTee 31T 317 atet uerd|

c) automatically maintaining a steady
temperature / T €9 ¥ Toh X ATIHM ST T

b) Art. 14
a) Age of Earth is 4.543 billion years / 92t i 319

4.543 faferm ad &

a) Ratti /Tt

d) Periyar/f@r

b) Ammonia /=T

c) 1923

c) Mariana Trench / W@ &=

Explanation: Near the southern tip there the
deep crescent-shaped trench, near the southern
tip there is a small shaped area called
'Challenger Deep' which is the deepest point and
is 36,000 feet below see level.

TagieRtoT: gferult i 3 ume e ereieiETeR @is ®, aferft iR &
UTE Teh BIST SATHR T & & S8 eeisr S T ST & ST T
e foig 2 ST T 7 & 36,000 e i )

c) Junko Tabei /ﬂTeﬁﬁ'@ﬁ

d) India / wrd

Explanation: The member countries of ASEAN
are Brunei, Cambodia, Indonesia, Laos,
Malaysia, Myanmar, Philippines, Singapore.
TATTRLOT; SRR o T ¥ 5, Fhallfea, SSHRMAT, A1,
AT, i, e, Ry

a) 1920

a) Rowlatt Act / e Toe
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46.
47.
48.

49.
50.
S1.
52.

53.
54.
55.
56.

57.
58.

Explanation: The Rowlatt Act of 1919 authorised
the British government to arrest anybody
suspected of terrorist activity and such people
could be detained/arrested of to two years. /

TAERIT: 1919 o {eie Tae 7 foifeT Tenm t aAdiepad mfafafyr
o iferer foreft oft sarfeh aht i e ot sfreRm faam ofe war et
1 31 AT e feXred o 1@ ST Seha ol

d) Magma/ &1

d) 06 August 2019 /06 3T 2019

c) upper and lower crust and solid upper part of
mantle/ 9 3R et quet o7t deat 1 3w Sl fegan

b) Titan (Saturn moon) / 2Tge (I T =EHT)

c) Yajurveda / 7543

a) The Hague / g &7

c) hydrochloric acid / gEgEITE tfrg

Explanation: The gastric juice is a wunique
combination of Hydrochloric acid (HCIl) Lipase
and Pepsin. These inactivate any microorganism
before they reach the intestines. / Tasietr: Afgs
STE BTSN TS (HC) TS0 S UTCH o1 Tk 31 SRS
313 Sidt 7 T & et Rt oft gesfa i i A 2
d) New Delhi/ 7% feeeft

b) S-Wave (Transverse Wave) / TH-39 (Zdad 3e)

a) European Space Agency / FUdR siaftet wsiet

b) 1966

Explanation: On 17 Novemeber 1966 the UN
General Assembly passed a resolution 2152
(XXI) establishing UNIDO as an autonomus

body within the UN to promote and accelerate
industrialization of develoving counries.

TATHI: 17 TR 1966 T HITH g HETET  fereraeiiet ox1i o
TSRO 3hT SIETAT & ST SEH Sl T o6 FoTe Tk g o Hfiax
T T (e % ®9 H§ UNIDO i TIT9HT 0 §T T STl
2152 (XXI) e famam

c) Baldev Singh / seiea fiig

b) Venus / 3

Explanation: Our nearest planet Venus is 7,521
miles (12,104 kilometers) across and earth is

7,926 miles (12,756 kilometers) across.
TETERTOT: T [ehead I8 I[h 7,52 1 1 (12,104 FRaATsiiey) =gt

& s gedt 7,926 e (12,756 foraimier) =il 21

thewinningedge.co.in

59.
60.
61.

62.

63.

64.
65.

66.
07.
68.
69.
70.
71.
72.
73.
74.

75.

a) Igneous rock / 3= IgH

a) Tele-conferencing / efi-ahi=hfEm

a) Goa / &t

Explanation: The Basilica of Bom Jesus is a
catholic Basilica located at Goa in the Konkan
region.

TqSRLOT: SfGfcTeRt AT ST SiTEE i & § T § o uh
hefifersn sf¥fers 1

a) Kerala/ 3

Explanation: Sabarimala is 191 km away from
Thiruvanthapuram.

TIETRTOT: FRHTT ferearfaqed & 191 fopeft gL 2
b) Assam/ 3@Hq

Explanation: Husari is carol singing, Bihu songs
and dancing invariably follow the main item of
Husari singing.

TABTRIT: O et e €, org 7t ST o gem gadl TR o
T TS T ITTAT L 2

a) Kerala High Court/ ®e 3=d =R

a) 71%

Explanation: 71% of the Earth's surface is water
covered and ocean hold 96.5% of all Earth's
water.

TAEIRT: qeall T EelE T 71% et ot & @ohT g 8 3w
% geeft o Teft wrHt T 96.5% feEwT R

a) Parliament by law /€& §RI ST

c) President / Trgufd

a) Both (i) and (ii) /3T (i) 3 (ii)

b) Presidential Ordinances/ Trgufd sTeamesT
a) Ministry of Home Affairs/ 7g %

b) Akbar/ 3TFHsT

a) Rajya Sabha only/ Fda T=T@T

c) Vacuum/ I

a) First Schedule/ vt sget

Explanation: The first schedule of the Indian
Constitution contains list of states and UTs,
their extent and territorial jurisdictions.

TIHIHROT: TR W ot oeell STggeT # Tsdi S g wmied
T o e, S e i i e e e 3

a) Ladakh / &@
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